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run_13052036 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 21 13:59:47 2012

[ADC for FGT RDO=1,ARM=3,APV=5 }

[ 1000 2000 3000

[ADC for FGT RDO=1,ARM=3,APV=6 }

raw ADC

[ADC for FGT RDO=1LARM=3,APV=7 }

Tt
3000 40(

raw ADC

ADC-ped

[ADC for FGT RDO=1,ARM=3,APV=8 }

i i i
1000 2000 3000 40

raw ADC

ADCApeg

3000
raw ADC

[ADC for FGT RDO=1,ARM=3,APV=9 }

4000

ADCped

1000 2000 3000 40(
raw ADC

4000

S}

[ ADC for FGT RDO=1,ARM=3,APV=5

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=3,APV=6

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L0 L L L L LD LA i

[ ADC for FGT RDO=1,ARM=3,APV=7

4000

1
120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=3,APV=8

80

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° TITI]II‘H|rl1l|‘l1lr|1ll‘lllll1

[ ADC for FGT RDO=1,ARM=3,APV=9

4000

40

60

80

120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

R i RIE BN ARG RN AR RIGRI RN AT RN AR ATENATRNAT]

APV channel




run_13052036 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13052036 FGT_RMS_1,Timebin=2,Disc=5,asmb=5DA
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run_13052036 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13052036 FGT_RMS_1,Timebin=2,Disc=5,asmb=5DA
Tue Feb 21 14:02:43 2012
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run_13052036 _FGT_ADC _1,Timebin=2,Disc=5,asmb=5AB

Tue Feb 21 14:00:10 2012
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run_13052036 _FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Tue Feb 21 14:02:08 2012
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run_13052036 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
Tue Feb 21 14:02:43 2012
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run_13052036 _FGT_ADC _1,Timebin=2,Disc=5,asmb=5AB
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run_13052036 _FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13052036 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
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run_13052036 _FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Tue Feb 21 14:00:25 2012
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run_13052036 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Tue Feb 21 14:02:10 2012
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run_13052036 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Tue Feb 21 14:02:45 2012
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run_13052036 _FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Tue Feb 21 14:00:30 2012
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run_13052036 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Tue Feb 21 14:02:11 2012
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run_13052036_FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Tue Feb 21 14:02:27 2012
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run_13052036 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Tue Feb 21 14:03:00 2012
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